A=-3x8+(-2)% B=5x{2+(12-5)+7} YW, A-B O &=
T-stofet.

> E.

> =gt —21

B ~

A=-3x8+(-2)=-3x8+4=-6
B=5x{2+(12-5)+7}

1
=5 (2 7 —)
X |24+ ><7

=5%x3=15
L A-B=-6-15=-21
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> HE: a>c>b
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© oA a9 ARAZ2 -5 Auight 23, a= -5 HT A0
st ouR g = 50|t}
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F g a bollthotd a>0, b<0 & W, ohx 5 T &2 A2
=gt
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R 9 Fjelz] Fajolt,

@ a-b<0 © a+b<0 © a’2xb>0

® axb?>0 @ a?2+0b%2<0

et 7R

>
A 1A

S ‘
@a-b<0:-b>0°E2 g-b>00°]|t}.
©a+b<0: b2 AHgto] g ol AUFHT o S T a+b <0
o|tt.
©a’xb>0:a>>0, b<092R a?b <0°]T}.
@axb?>>0:a>0, b>>00°2Z gb? > 00|C}.
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4. BoNEL o gsto] b A2 AMstolel,
12.3 x (=7) + 12.3 x (-3)

> E.

> ®™eh: -123

123 x {(-7) + (-3)} = 12.3 x (-10) = -123
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